CSE 326 – Data Structures – Autumn 2002

Homework #3 – Sorting and Trees

Due Monday October 28

1.  Consider Quicksort using the median of three rule for choosing the pivot, where the three indexes considered are:


[image: image1.wmf]
(0,  ( length/2 (,  length-1)

Precisely specify the pattern for an input that would cause this Quicksort to run in quadratic time.  You may specify the pattern using a recursive definition.

2.  Consider external Merge Sort where blocks of size M are sorted using Selection Sort.  Write an asymptotically tight expression for the worst-case running time of this algorithm in terms of M and N (the number of items to be sorted).  Next, suppose that M is a constant, and simplify the expression.

3.  Weiss problem 4.4.  An inductive proof could be appropriate.

4.  Weiss problem 4.19.  Draw the tree after each insert and rotation.
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